N = 398

398 circles in acircle

N = 399

399 circles in acircle

N = 400

400 circles in acircle

radius = 0.046215315079  density = 0.850070428444
ratio = 21.637848801654 contacts = 899

N = 401

401 circles in acircle

radius = 0.046052630814  density = 0.850458766751
ratio = 21.714286075092 contacts = 907

N = 404

404 circles in acircle

radius = 0.046161655164  density = 0.850228464591 Deser
ratio = 21.663001390303 contacts = 901

N = 402
402 circles in acircle
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radius = 0.046012844060  density = 0.851107091021 Qe
ratio = 21.733062157664  contacts = 915

N = 405

405 circles in acircle

radius = 0.046110004417  density = 0.850453002934
ratio = 21.687267495280 contacts = 932

403 circles inacircle
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radius = 0. density = 0. Q&
ratio = 21.769628263694  contacts = 948

N = 406

406 circles inacircle

radius = 0.045850336763  density = 0.849643822410
ratio = 21.805810344978 contacts = 907

N = 407

407 circles in acircle

radius =  0.045822028729  density = 0.850361618319 Heser
ratio = 21.823564511188 contacts = 883

N = 408

408 circles in acircle

radius =  0.045783039382  density = 0.851011198184 DEsmn
ratio = 21.842149702231 contacts = 886

N = 409

409 circles inacircle

radius = 0.045742186073  density = 0.851585467792
ratio = 21.861657385804 contacts = 912

radius = 0.045713663260  density = 0.852613515530
ratio = 21.875297858145 contacts = 901

radius = 0.045686348359  density = 0.853682152403
tio = 21.888376635716 contacts = 703



